reflection in the y — axis

S1E —(X)Jg = A 24und 2y1 uo jurod

oyvaponb ayy p juiod Livuonvis ay ]

Q
g
\
<
Q
=
i
=
~—
o)
&
I
W
\.-/
S
Q
3
S}
=
]
3
<
3

stretch, scale factor 2,
in the y —direction

A aa4nd

oup.aponb ayy p jutod Livuonvys ay ]

) is...

A'2a.n2 ayj uo jurod

-f(x) is (6,—3). The stationary
X
2

st (xey

dwuoyvis 2y (g —°9) st (x)
The stationary point  the quadratic

point on the curve y = f{’

curve y




Sfx)=2 is...

The stationary point  the quadratic
curve y=£x) is (6, —3). The stationary

point on the curve y

=
S
s
3
e
3
=
]
a
g
3
S
]

<

st (XY
Aivuonpys ayy (¢ — ‘9) 51 (x)f=d2a.n>

oyvaponb ayy p yutod Livuonvs ayJ

g
S
-

S

3
S

S

N
w~

I\))
=

V
=

N

2
Q

7
:
£

= f(2x) is...
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